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ACCOUNTANCY

For New Course Students

Full Marks : 80

Pass Marks : 24

For Old Course Students in lieu of Project works
Full Marks : 100
Pass Marks : 30

Those who appeared H S Final Exam till 2023
have been treated as Old Course students

Time Three hours

The figures in the margin indicate full marks
for the questions.

For New Course :

() N T ) e e P o e P Pt P P 1x4 = 4
T P Pt 3 VacsTet renarate 1x2 2
) N s e el e sl i o et 1x2 = 2
Q. Nos. 2-7 carry 2 marks €acl .....coovccvecesciciisincnisieninnns 2x6 = 12
Q. Nos. 8-11 carry 3 marks ach ..........cccccovveiviivininenininss, 3x4 = 12
Q. Nos. 12-15 carryy 6 marks each ....couvotisiseaiisisinciiinia, 6% = 24
Q. Nos. 16-18 carry 8 marks each ................... et S 8x3 = 24
Total = 80

For Old Course (in lieu of Project Works) :
Q. No. 19.carries 5 marks each (any four) ........... 5x4= 20
Total =100
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(@) Fill in the blanks with appropriate word/words : (any Sour)

(b)

1x4=4

Toe @ Gl 0% A 9 ¢ (R bifon)

@

(i)

(iii)

(iv)

(v)

Partners current accounts are prepared when the capital
accounts are .

ToA ROIPPRR R ORI ST bRTS fRbiet el 1 2|
Company has a separate entity apart from its

members.
AP TR ST AMRES @Bl 42 37t <l

Current ratio is the relationship between current assets
and

Blel® St blete T8 il

3 ITGS IpR |
Equity shareholders are '
ARG A< <Ol RIS

of a company.
|

At the time of dissolution of partnership firm, assets are
transferred to Realisation Account at RN ey altie

AT 2SO SRR RS AT e Byl

e AT 9 2 |
State whether the following statements arcA‘Trie! or ‘False’ .
A 1x2=2
o Sfe@d ‘em @ Swm i e
(i) Debentureholders do not have right tq ROLE i g
meetings of the company.
el IR (i R3S /7o ool frig wifim =
(i) Premium for goodwill is shared in gaining ratio.

34T ACOU

S RS TAPS FIeT SIS <5 ) = |

[2]

(c) Choose the correct alternative : 1x2=2

W B! e 9 3

()

)

34T ACOU

The portion of the authorised capital which is offered to
the public for sale in the form of shares is called

SRS R R Sk SRR S SIS R i
SLRICHIE 2, O (il 2

(a) subscribed capital
GISLAS R GED

(b) issued capital
Rfsree 3F

(c) called-up capital

O] Y

(d) paid-up capital

In the absence of partnership deed, the rate of interest
allowed on partner’s capital is

SR Bie SR, SR EAE ST enle I 701 29 (AR
(a} 6%

(b) 5%
() 6:5%
(d) None of the above
32/ €58 7=
What is meant by re-issue of forfeited shares ? 2
AT SEH2fag A= [ e & ga a7
[3] Contd.



3. Write any two demerits of partnership business. : 2 9. Give any three items that can be shown under the heading

’ SR RS R @Wﬁﬁm ) : . ‘Reserves and Surplus’ in g company’s Balance Sheet. 3
A T : Pl @bl (PR Tgerias ke e S SifmEE Form SfiNe @A A9
4. Mention two features of a debenture. 2 ) | Brlel ol T B < |
eioiaq 75 C@AMP S |
OR / 7zt
OR / 7zl !
; Name any three items of current assets. 3
Write the meaning of ‘Cash flow from investing activities’. DT Rz [ol6) 5ieTe F=ifes = Bl |

R ST 2[ @ 0w 1 2R w5t
' 10. Current liabilities of a company are % 3,50,000. Its current ratio is

5. Give two circumstances under which the fixed capitals of partners 3:1 and liquid ratio is 1.75: 1. Calculate the current assets and

may change. 2 ~ liquid assets. : ‘ 3
SRA I T @@WWfaW@WWWQWl it qBl T vfere mE AfSElst 2 3,50,0001 IR @ENIGR bETe S
' OR /7% 3: 1 W OFE A 1.75: 1 T, ofeTe Fife o= ey Fvifies #ifkie [efd
; R
Why is Profit and Loss Adjustment Account prepared ? 2 ‘ ; ;
FIS-CETvA A 25l 2 awe 9 =2 | OR / 7z
6. What is meant by ‘calls-in-advance’? - 5 | | Mention any three objectives of preparing comparative statement. 3
S Sl e @ e | | - T ARV AR Rieal omor Srwy Trad <4 |
7 Mention two limitations of financial statement analysis. A% OR / #I231 |
Rt aformas Reaaes 75 Aeas! SeEd | ' : What is computerised accounting system ? ‘ 3
OR / 7231 R Y, | AT (G Ao e 52
What is meant by the term ‘cash equivalents’ ? 9 11. A and B are partners sharing profits and losses equally’. They have
admitted C into the firm. A has surrendered 1/3 of his share and
TN TAGeD #MCoR A & gert == : ' B has surrendered 1/6 of his share in favour of C. Ascertain the
: . 2 fit shari tio. 3
8. Write three situations when a partnership firm is compulsorily néw SN . ' y .
dissolved. 3 | A S% B & SITME WIS (OSCETITS HAC STS-(SIHl B9liE 577l | (SSTEie
ST e SO SRR R SAE AR | C=F g ORAMA f2pieel e | A (967 ST 1/3 WIS B-® (98 SR*F

1/6 SR* C (51 eopsfel SR Toa ai® 07 Segeie Sefa <= |

34T ACOU [4] | % g 34T ACOU (5] Contd.



| :
) e | ! OR / 723}

| XAk, : . : :
Explain in brief the ‘average profit method’ of goodwill valuation. 3 | Explain in brief the tools of financial analysis. RO
|
S U 9 O ARS (Ol HACE IR <A _ | | Rem Reges SifEsiirg 5Ics 3904 41 |
OR/W . ‘ | OR/'_‘UEW

Write three advantages of using graphs. : S Explain the concepts of ‘data validation’ and ‘data verification’. 6

@1 S fof! iR R | S5 CofTUS Wi Giol (SREFEoT 4Rees! 9 1 |

12. Prepare a Commonsize Income Statement of Maina Ltd. from the
' 13. Give Journal entries in the books of Pakhi Ltd. for issue of

following informations : 6 ;
o | debentures under the following situations : 1+1+1+1+2=6
wo1] ST o/ B FRIO0S SIIZORI ST SIS AfSEr e 3 3 b .
Particulars 2022 20 | | oo Al SRR I AR G 93te eeias R i s 2 @i e
(Raad) () (2) _ (@) Issued 5,000, 8% debentures of ¥ 100 each at par redeemable
Sales (&) ~11,05,000 |1,10,000 \ at 5% premium after 4 years.
Sales Returns (Red &/ Q) 5,000 10,000 | 5,00061 100 5511 8% 3e7@ wgee [l ¥ [ 4 329 Piwe 5%
Cost of Goods Sold (R o=t AT TLED) 70,000 74,800 , e AR |
Office Expenses (ST <) 21000 3,200 (b) Issued 6,000, 9% debentures of 2 100 each at 5% premium,
Non-operating Incomes (SRS S 5’000_ 6,600 redeemable at par after 4 years.
- SRR 495) | 1,000 \
Non-operating Expenses (S L 0g 6,00051 100 SR 9% s 5% wEgRe [ w@ {4 7=« fFzs
! |
Income Tax Rate (¥ ) A% 50% | TS AR |
34T ACOU [7] Contd.
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(c) Issued 7,000, 10% debentures of 2 100 each at 5% discount 14. Susanta, Ananta and Diganta were in partnership sharing profits
i ) and losses in the ratio of 3:2:1. On 1.1.2023. Susanta retires -
redeemable at par after 4 years. from the firm. On that date Balance Sheet of the ﬁrm was as
' _ follows : 6
7,000% 100 581 10% i 5% JiEre [ 7 /4 = P Sl G S % 3:2: 1 SEeow e~ Rosaet @< afopis
AHRTS AR | | : | ST, iR | 1. 1. 2023Ww@wwwwm|ﬁ—ﬁﬁ—
. oifovir" Tgo-siade wete Al {5as e | :
(d) Issued 8,000, 10% debentures of 2 100 each at 5% premium . Balance Sheet (¥5€-2[@)
redeemable at 10% premium after 4 years. ' " Liabilities. (1) g Assets () 3
8,00051 100 531 10% o1 5% wRewe R T & 4 720 fige CredtorRIs) TR eshiat Danks LR S SR
10% wifies ﬁﬁt‘n@m | _ : Reserve Fund (F(%© eﬁ‘ﬁ) 60,000 | Debtors (7€) A 1,50,000
_ Capital (F) Stock (g9) 30,000
(e) Issued 5,000, 9% debentures of 2 100 each to the vendofs for Susanta = 8'0 000 - Furniture (S54I9) 24,000
purchasing a machinery of 2 5,00,000. ! (1) Land ‘and Building (@WW) 80,000
5,00,000 53 Jg#if @ 9 A oI 5 00051 100 3??3“1211 9% Yoorg Ananta = 60,000
f&ifer e | | - (T9)
_ ; : Diganta = 40,000 |1,80,000
OR/ A | (i)
Give six points of distinctions between a share and a debenty 2,90,000 3 2,90,000
. re

The terms of the retirement were :

st < 551 sty ST 0 | ST
g YePlEG dere A5 A< = <
S Pl (i) Goodwill of the firm were valued at %1,20,000
OR/ 723 - i - , AP I TR 1,20,000 56 <F1 (2T
i . ' : ' ) Land and Building to be appreciated by 20,000
Explain the applications of Spreadsheet in Accounti (i©) :
i P ! e 6 | il Wik A 20,000 T I 7 et
@I5FS ‘Spreadsheet™ TP 961 T4 | _ (iii) Provision for Bad Debts to be made @ 2% on debtors

AT oS 2% SHARTE 9T A I N 29

34T ACOU [8] e ) . [9] Contd.




(iv) Furniture to be depreciated by 2 4,000
SBRIFE S7® 4,000 T ST A /[ 27
(v)] Susanta’s capitai is to be transferred to his Loan Account
W@agﬁ@@@@@ﬁﬁ%%{i@awi’a |
Give Journal entries relating to the above transactions.
ARG O IR A Gicm el
' OR / 7R

Explain how the amount due to a deceased partner is ascertained ? 6

GE 3 SRAMIRE ARENE 1 AR e Faiee 90 21 96 9=

15. Distinguish between dissolution of partnership and dissolution of
firm. | 6
AT SRR I SRATIST TR SRR TET ALER fra |

OR / 73!
Ravi and Vicky are partners in a firm sharing profits and losseg 4
the ratio of 3:2. They decided to dissolve their firm op 31 ri
December, 2022. Their Balance Sheet on that date was ag undef ;
TR S TR 3: 2 SHAMSS @S i Wa@waﬁtwwﬁm|
(ST 31 fUmas, 2022 SRS (SCERF TPIRE SRR P o =
SR (ST Tgorain weTe Al wHd e ¢
Balance Sheet (¥%9&-7[@)
Liabilities (G 2 Assets Clzia) ey
Capitals (3[F&) : Furniture (Sb<19) m
Ravi (3R) 174500 Investment (RiRGs) | 4 000
Vicky (&) 10,000 Debtors (CAM) 2,000
Creditors. (#ieamiq) 2,000 Stock (o) . 3,000
Profit and Loss A/c 1,500 Cash at Bank 6,000
(Te-CET=RD [25171) _ (o Srll)
31,000 e
|
34T ACOU [10]

15,

34T ACOU

Ravi took over the investments at an agreed value of 2 3,800. Other
assets were realised as follows :

Furniture — 318,000
Debtors — 90% of Book value
Stock — 22,800

Creditors of the firm agreed to accept 5% less. Expenses of
realisation amounted to T 400. Close the firm’s books by preparing
a Realisation Account, Partners’ Capital Accounts and Bank
Account. : j 6

2R 3,800 TFF T S 0 RAGISPRR 8%l 0 | 9 AR ©ero
SSGASIGEISS I K | -

5" — 18,000 G
I — I2ETS 90% : 5
Sge — 2,800 5

AR ANAMERE 5% FE A% FRACE TS | TOEEER 2. 400

Sl Caftel| PR 251, SRAiRe e 2ol O (k< ol e 3
JEE 2hisie J2PTE = 1|

Anvi Ltd. has issued 10,000 equity shares of 10 each at a
premium of 32 each payable as follows : . 8

On Application — 2
On Allotment — 5 (including premium)

On First and Final Call — %5
The shares have been fully subscribed, called up and paid-up
except the following : '
(a) Allotment and First and Final Call money on 500 shares held
by Ritu, and
(b) First and Final Call money on 600 shares held by Jitu.
All these shares have been forfeited and re-issued at 10% discount
as fully paid. .
Give Journal entries in the books of the company.

i) Contd.




17. Mihir and Karan are partners in a firm sharing profits in the ratio

Anvi [HSCGCE @9 10 53 &0 10,000 A 9T 2fo4To PRI ' -
i) ' ’ 3 AR of 3:2. On April 1, 2022 their Balance Sheet was as under :
%WWWWWWQWMWWS 3+3+2=8

ﬁﬁamaﬁqs 2 TEAITS S AT I efSwiE SiAmE | 1 afelst, 2022

IRV 90 — 2 bl
SRS c_\stﬁﬁﬁ%'a—ﬁ_ilﬁ_d_ﬁ?lﬁmm@

SINTAS E0 S DUl : ) Balance Sheet (¥%€-21@)
| 22 OIS pOIT Wi o150 — 5 Tl Liabilities () , 3 Assets (F7™G) 3
SHAAERA AR Aol efoehe Ze, (GIRRN O 711 2 9% oee fal - Sundry Creditors 185,000 | Bank (&) 10,000
SR I 1 IR AT 4 SR (oA 9T 8 ' | ; (R4 (7mR) | Stock (7o) 22,000
(@) 500 < SRAAE 47 R 241 AR SR U &2 S s woee Ceppnials (el & Hept cagiilachineny #0:000
4, I | ' Mihir (Rf&) = 70,000 (IR W= FEA)
(b) 600 3 AT 4 1%;@ Sl AR 22 S PO © o f Karan ($5) = 60,000 _ 1,30,000 Building (©39) 1,00,000
' : .Goodwill (FA1) 20,000
3 IR SgHvig TG T 2 9% 10% @ﬁwwﬁwﬁsﬁq _ _ S LR
I e I I ; Less : Provision (3%%) - 1,000 | 23,000
@R F2re Sicm ARk fa | | | . 2,15,000 2,15,000
OR /37‘3?7‘ ‘ .  On the above date, they admitted Sunil as a new partner on the
‘ following terms :
(a) For what purposes ‘securities premium’ can be used ? 5 %W_Fﬂ%?l (OSEIE oo GrEd ’@T PORE [© 6o FAAlere To S M
f e ‘ f2pitel ©fS e 8
‘foef® ST o © Al 2 (i) - Sunil will bring ¥ 50,000 for his capital.

AN (96T FEEE AW 50,000 5l NI |

Write three distinctions between equity share and prefe &
(b) rite thr preference (ii) He would get 1/5th share in the future profits.

share. ' G | (98 SR 7S 1/5 SRH IS A |
Siesog’ gﬁ@ waifEeRTe Rs[\*tvr“’q Mere A3, Pﬁﬁ)‘oﬁqﬁq 7201 | ' (iii) Goodwill of the firm is valued at % 1,20,000.
) | 2ARSHFE I 1,20,000 TS 0T =1 24|
OR /7231 ) (iv) Sunil will bring necessary premium for goodwill.
' ‘ , TN 2T T 2 S =ifE |
What are the steps involved in installation of computeriseq Pass Journal entries to record the above transaction. Prepare

Partner’s Capital Accounts and Balance Sheet of the new firm.
@oRT EERTE fiRE SRS A SiEml aﬁ%ﬁmsmﬁm&wmﬁ%m—
T erﬁﬂéma Tg€ g oo A |

accounting system (CAS)? 8

e Moﬂﬁ#v&rwaﬁ—@fﬁ—wmﬁ%%v

34T ACOU : [ 13 ] Contd.
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OR / 741

(i) Distinguish between Profit and Loss Account and Profit and

Loss Appropriation Account. : 5
S~ (EIFEI 125171 Sl FS-(EIHl SARIGH (2517 eq ~AISTE@F &1 |
(i) Mention any three rights of a partner. 2

SRR IS RICRIc] oG SifdeE Sz 11

Biswa and Pradip are partners in a firm. The Trial Balance of the firm
as on 31st December, 2022 was as under : 8

o S 2lfflet 92 elfePlag RTmE | 31 ferae, 2022 OiRye efoviRT vge
e 2lade ©ad Wd e 8 '
Trial Balance (¥g@ fEw~@)

Debit ((@Rb) 3 Credit (%) 3

Drawings (9=5) : Capital (%) :

Biswa (R%) — 4,000 Biswas () — 65,000

Pradip (@) — 3,000 | 7,000 Pradip (2%) — 40,000 |1,05,000
Cash at Bank (@& &) 45,000 Sundry Creditors (R ~Aemi) 18,400
Sundry Debtors (R4 (FI) 40,500 Bank Loan (& (4il) 5,000
Insurance (31 19,740 Commission () 300
Advertisement (fEl%A) 9,000 Trading A/c (Gross Profit) 57,200
Closing Stock (ef? T©) 12,500
Cash in hand (7 &) 16,300
Commission (3F) - 5,000
Motor Car (75 %1f6l) 20,860
Machinery (TEIf) 10,000 :

1,85,900 1,85,900

Prepare Profit and Loss Account, Profit and Loss Appropriation
Account and the Balance Sheet of the firm for the year ended 31st
December, 2022 after considering the following information :

waTs il e ol SR 31 ord, 2022 SIS SR} 31 i 5io-
W@ﬂ,m-W@W@ﬂWW%WﬁWWS

(@) Partners are to share profits and losses in the proportion of

35 and 2/ respectively.
SR RERRCE] FNe- IR @ 3/5 W 2/5 SEPITS BB w1 |

34T ACOU [14]

(b)

(¢

Write off depreciation @ 10% on Machinery and 20% on Motor
Car. ,

AR eo=® 10% S 309 SO S50 20% SRHERl 41 SR e |

Create a provision of 5% on Sundry Debtors for Doubtful
Debts.

R4 AR 8PS IR Yo AT 5% SR JIZ T4 29|

(@)

Partners are entitled to Interest on Capital @ 5% per annum

and Pradip is entitled to a salary of 21,800 per annum.

ST 2R 5% 290 T 8oR® IO oS B S dAifAE T2
1,800 BhicE maw frdl 241

For Old Course: (in lieu of Project Works)

19. Answer the following questions : (any four) , 5x4=20

(@

(b)

(¢)

(@)

(e)

34T ACOU

firall elpTRs Ted ¢ (Rpie blisol)

Write distinctions between Fixed Capital Account and
Fluctuating Capital Account. :

= e ol i S i fRBieAN Sere Al Sfieley foal

What is Ratio Analysis ? Mention any three limitations of ratio
analysis. .

sEtte Fosad 7 2 Saeite Remem R oo Al SEd w1

Explain uses of Financial Statement.

ey dfewvr TR T F901

: ' : !
What is meant by Cash Flow Statement? Mention any three
objectives of preparing cash flow statement.

e e eforEvE e B I@ 2 o Sdizd e eee IS
RiceleaTr fofab! Somy S <1 |

Explain the average profit method of valuation of goodwill.
What is Revaluation Account ?

WWWWWW?@WlW@ﬂW%?

X
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